COPIE d’élève : A corriger et rédiger
2) a) V(x) = x²(6-x)

    b) V(x) – V(4) = x²(6 – x) – 4²(6 – 4)

                             = 6x² - 
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- 32
    c) V(x) – V(4) = - (x – 4)²(x + 2)

                            = - (x² - 8x + 16)(x + 2)

                            = - (
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+ 2x² -8x² - 16x +16x +32)

                            = -
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       V(x) – V(4) = - (x – 4)²(x + 2)
    d) V(x) – V(4) 
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        -(x – 4)²(x + 2) 
[image: image6.wmf]£



 EMBED Equation.DSMT4  [image: image7.wmf]0

        (x + 2) 
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         -(x – 4)² 
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         V(x) – V(4) 
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Donc 4 est le maximum de V et M est situé au 
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